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> D(fx,"x")
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library(Ryacas)
fx=expression(2*x"2-3*sqrt(x)+log(2*x"2)+exp(sqrt(x)/3))
D(fx,"x")
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D(fx,"x")
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> library(rootSolve)
> uniroot.all(fx,c(-10,10))
[1] -1.3065625 -0.5411859 ©.5411859 1.3065625

library(Ryacas)
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abline(v=0,h=0,col="red")
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library(rootSolve)
uniroot.all(fx,c(-10,10))

> fp=function(x){2 * (4 * xA3) - 4 * (2 * x)}
> uniroot.all(fp,c(-10,10))

[1] -1 @ 1

> f2p=function(x){2 * (4 * (3 * xA2)) - 4 * 2}
> f2p(c(-1,0,1))

[1] 16 -8 16
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> f=function(x){2*xA4-4*xA2+1}
> f(c(-1,0,1))
1] -1 1 -1
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Temperature | Ice Cream Sales
85 $200
71 $160
84 $170 Call:
66 $120 Im(formula = Ice ~ Temp)
77 $120
75 $180 Coefficients:
68 $100 (Intercept) Temp
91 $230 -163.410 4.193

Temp=c(85,71,84,66,77,75,68,91)
Ice=c(200,160,170,120,120,180,100,230)
Im(Ice~Temp)






